Résumé -Chapitre 1-

Relations Trigonométriques

cos(—a) = cos

) ™
cosa = sin(a + 5)

cos(aw — 8) = cos awcos 8 + sinasin 8
cos(a+ B) = cosacos B — sin asin 8

sin(—a) = —sina
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sin = cos(a — =)
sin(a — ) = sinacos § — cos asin
sin(a + ) = sin a.cos 8 + cos asin 3

cos2a = cos? a —sin a = 2cos’ v — 1 = 1 — 2sin @ sin2a = 2sinacosa
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cosacosff = 3 [cos (o — B) + cos (o + )] sinasin§ = 3 [cos (a — B) — cos (a + B)]
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cos? o +sina = 1 sinacos 8 = = [sin (a — ) + sin (a + B)]
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cos” o = ———— sin“ag = ——
cos o + cos B = 2 cos a—p cos atf sin + sin 8 = 2 cos a—p sin ath
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Nombres Complexes (j2 = —1)
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Intégrales
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Séries de Fourier
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